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Set out these questions yourself to answer them.

B 726 + 3= B 378 +9=7?

3) )

El 836+ L4 =7 I0 584 = 8 =2

Problem solving

I The area of a rectangle is found by
multiplying the length by the width.
If a rectangle has an area of 342cm?
and a width of 9cm, what is its length?

divide by three. How many yards is 456 feet?

BE] If one-seventh of the 196 countries of the
world speak French, how many countries
speak French?

BF1 To convert measurements in feet into yards, ]

| How did I find Step I? [JEasy [ JOK [ Difficult |






